Test# 11 Physics Unit # 6,7,8,9 (2nd Half)
Time: 2 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 60
1. Circle the correct answer. (12x1=12) Lo S Lz enl
1 Which thing works on the principle of electromagnetic e u"'fx, u@? ,/*Q, VAV PN J;Q, Iy Uf’[ 1
induction in hydro electric power house? ‘e &/({4 Jﬂl
Voltic Cell k- _g,, (D) Galvanic Cell t- _ﬂ,{..f (C) Generator A (B) Motor ;,. (A)
2 If a coil is placed far away from a magnet, the lines of 3 57 <"y o * 117 sy ot J”,/&:Q Ji 2
force pass through coil will be. _Jg/}(
Very large ) et (D) Afew D{ (C) Maximum Dl e o) (B) Zero/'w (A)
3 The part of the electronics which provides the datain o~ g J[J, {/,, ol e o S LS 2 o ¢S5 3
.the form of a maximum and minimum voltage signals, - L“Uvi/a L"/J;i 5 /L,é @‘1’”
is knows as. ‘ ‘
Digital electronics f,;.g, %s (B) Electrical electronics f,;@, Lﬁ/ﬁ{J, (A)
All of them l'l'? - (D) Analogue electronics f,/»g, JJJQI (©)
4 The electronic systems used at present consist of. < JJ’"’ (”f/ f,;g, g‘fa,’ 4
Both of them ./, (C) Digital circuits{.‘ff/ l%; (B) Analogue circuitséuﬁf/ S A
None of them 7 i/ . # . (D)
5 Which of the following is not processing? fe u—:/ __,@,4 Jf us 5
Calculating /(" _(> (C) Manipulating ;s ;> (B) Arranging(,_-> (A)
3 Gathering L/'/laffi (D)
6 Latest telecommunication devices are. it Ay o ~,3/Jf g a6
Too costly to purchase Jf/ sl e (B) Verysimple . .. (A)
Very dangerou;to use ‘_,/L/p ex S S Jer (C)
Muchcbetten and'more efficient & .}, et sl sl et (D)
7 E-mail is the abbreviation of: -< N S
Urgent mail " .- (C) electronic mail 4 J,/:Q, (B) emergency mail K J’?ﬁ, (A)
None u::’ é[ (D)
8 With broadband information can be loaded. - G’C b J;,J i el = b, 8
In2days = ,J,,, (D) In1 day wu"(, (C) In1 SeC L ..{l B) In1 min ;/b{l (A)
9 In the remote control device- A e s 9
Sound waves are used Jﬂ Je1 s sl (A)
Infra-red waves are used Jﬂ Je51 s ;tj,/w’, (B)
None of them s i, # s (D) Microwaves are used i ,; Ji-13y5 » £ (C)
10 Particles in the nucleus of an atom are: Y, AN o uf‘ig,: Z ’f":.; 10
Protons ag (B) Protons and electrons ;,;g, l 7';,4 (A)
Electrons and neutrons -, ,» 7-,;?, (D) Protons and Neutrons -, ;.0 ;;,4 C)
11 Charge on alpha particles is twice the charge of. by oy 2 C L— L 4 £ 48 11
Proton Sy (D) Helium ﬁy (C) Electron u,;.g, (B) Neutron 24 (A)
12 Alpha particles can produce fluorescence in. Y 2’:/:/14/7 S b )@4&)1 12

Zinc sulphide :7;;(. _¢; (D) Vacuum T (C) Barium F:/" (B) Air A (A)
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Part-1 - Jst )
2- Answer any 5 short questions. (5x2=10) 2 apiz Z L ey 5 32
(i) Define electromagnet. _”&(_ﬁ,jf J&Q,;Q, €))
(i) What is meant by Logic Operation? Write its two <¥(L' z ru’, " JJ, S izﬁﬂ’ &y GD
kinds.
(iii) What is meant by binary variable? S sy L/c; Jq S d)i/& (jii)
(iv) What is NAND gate? Write its truth table. ne Jr: FiIE U S sl Ve e ()
(v) For what purpose browsers are used? cur 2T rg ‘fj//‘ﬂ{ )
(vi) What is differece between step-up and step-down fe AL A s %{b P .{f’; i)
transformer?
(vii)  What was the Ruther for theory about atom? RSy S VT Y L}l’"/‘ & (vid
(vii)  What is difference between artificial radio activity and fe G4 U 1 Ty Jé Il (525 Ty Jv‘i’ AT (viid)
natural radio activity?
3- Answer any 5 short questions. (5x2=10) ey L ey 5 33
(i) Describe the direction of an induced e.m.fin a circuit? ¢ J’/J» - % J,/uy. - J&/}g;‘ﬂ AN
How does this phenomenon relate to conservation of fo b £ Ul £ i £ ﬁ)/fi G
energy? ;
(i) Define operating system and give example. - JE sl u:/vy/? J("I/ ..‘@’/,:T G
(iii) State right hand rule. -él"/ ok Jr1 6 S| u:’,, (i
(iv) Write the truth table of OR gate and also draw their 'w’& I,,f Uit Jf: Yy J_b,f/,’ Gv)
circuit diagram.
(v) What is meant by A.T.M? S sy .l.f'/C’- ATM &)
(vi) How can the scientist estimate dieditree,age, by C- s g 4/,),;, € Ju;}/, 0, e -14g K JiF - (Vi)
147?
(vil)  Write the Sl unit of radioactivity and which units are  Jus 1,0 ol S S u—gj ey 8T 6 (2 as (vid)
comonly used for radioactivity? St
(viii) I%rél\;vr;at way atom in %4N is different from the atom e G .L:(J-f %6N ol %4N i’&’?{)j z At (viid)
4- Write short answers to any (5x2=10) ez 2L ety 5 (-4

5 questions:

i) What are the factors which affect the magnitude of gy & (1 iy 21 1y Lot 14y U2 &5 £ UE/"’“ S el @D
the e.m.f induced in a circuit by a changing magnetic Uy < Ji/ J/JW;I K Lo J
field? ’
(i) What is light depending resistors (LDR)? 013 &J’;/b;, _sz,”.:j’ << G
(i)  What is E-commerce? fe VU g Gib
(iv) What is NOT gate? Draw its symbol. _u:/b' J/ ' ?? Py QJ/C. wa Gv)
(v) Enlist some uses of internet. S et £ e A (V)
(vi) Define Atomic Number and Mass Number. _Jf’i b,y/'f J/ Jb sl / L (v
(vii)  Write a role of radio isotopes in medical treatment. _uf‘v Jss 6 s A7 o Sty ‘ﬁ.j&/ (vii)
(viii)  Draw a diagram of fission reaction in 25° U. JuF Jﬁj S8 S A §§5U (viii)
(Part-II - 55 )
Note : Attempt any TWO questions. (9x2=18) M aniz & ety e 3 s
5. Aradioactive element has a half life of 40 minutes. S bu,’{&w,l - 2240 I g eoaly 1 24 (@5

(@)  The intial count rate was 1000 per minute. How long gL/'/Jlla » »';’KJ;' i e u‘/d . 5€1000
- = o ~-< -
e B 125w § eoi8250 6 K s Y




(b)

(a)
(b)

will it take for the count rate to drop: (i) 250 count
per minute (i) 250 count per minute

A step-up transformer has a turns ratio of 100:1. An
ac voltage of amplitude 170V is applied to the
primary. If the current in the primary is 1.0 mA, what

is the current in the secondary?

Define NAND gate and draw symbol and truth table of

NAND gate.

The half-life of 1V is 7.3 s. A sample of this nuclide
of nitrogen is observed for 29.2 s. Calculate the
fraction of the original radioactive isotope remaining
after this time.

What is meant by transformer? Expalin the working
principle of transformer.

Carbon-14 has a half-life of 5730 years. How long will
it take for the quantity of carbon-14 in a sample to
drop to one-eighth of the initial quantity?

ce 1100 = § Uk 2 o uds ol (D)
S IS S e 170V (V)G S P14
gt S S P S T % 1.0mA

F it J ¥ E /2 NAND ()6

§ 052 1 L R e T3 I A GPN (b)

o e S ERON) A S outee L L 292

Ko G £ 1292

< L“/"l{cj L Ui J/,: S ol Ve sk07 @7
<J”/:¢>L23

dr § 14- - v 5730 S 3y § 14-g6 - (b)
Wn 23 L L Lon (E L6



MCQs Ans Key

Q:1(B) Q:2 (C) Q:3 (B) Q:4 (C) Q:5 (D) Q:6 (D)
Q:7 (B) Q:8 (B) Q:9 (B) Q:10 (C) Q:11 (D) Q:12 (D)




